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MATH 1332 TEST 3: FORMULA SHEET

95% confidence interval = from (sample statistic — margin of error)

to (sample statistic + margin of error)

frequency in category
total frequency

relative frequency =

frequency in category and all preceding categories

cumulative frequency = tolal frequency

_ sum of all values
~ total number of values

mean

range = highest value — lowest value

sum of (deviations from the mean)?

standard deviation = \/

total number of data values — 1

o range
standard deviation =~

lowest value = mean — (2 X standard deviation)
highest value ~ mean + (2 x standard deviation)

growth rate = birth rate — death rate

opulation
logistic growth rate = r X (1 — Pop )

carrying capacity

change in dependent variable

rate of change = slope =
/ o P change in independent variable

change in
slope = g—y
change in z
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rate of change in
change in dependent variable = X &
independent variable

change

dependent variable = initial value + (rate of change X independent variable)

Q:QOX(1+7’)t

log, 2
T ouble = I N
doutt logyo(1+ ) (r>0)
70
Tdouble ~ ?

new value = initial value x 24/Tdouie

log; 2
Thaf= ————— <0
half logo(1+7) r )
70
Thalf =~ ?

t/Thaiy
new value = initial value X (5)
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